



NKESI  
CHIZAM



1) y = Dept: MBBS, Matric No: 19/mhs01/524

Name: Precious Kenneth Okoro

1)  $y = 2x^2$  at the point  $(1, 2)$ :  $x_1 = 1$ ,  
 $y_1 = 2$ .

$$y = 2x^2$$

$$\text{Gradient } m = \frac{dy}{dx} = 4x$$

when  $x = 1$

$$m = 4(1) = 4$$

$$m = 4$$

a) for the equation of the tangent,

$$(y - y_1) = m(x - x_1)$$

$$(y - 2) = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$4x - 4 - y + 2 = 0$$

$$4x - y - 2 = 0$$

$\therefore -y + 4x - 2 = 0$  (eqn of tangent)

b) For the eqn of normal

$$(y - y_1) = \frac{1}{m}(x - x_1)$$

$$(y - 2) = -\frac{1}{4}(x - 1)$$

$$y - 2 = -\frac{1}{4}x + \frac{1}{4}$$

$$\frac{1}{4}x + y - 2 - \frac{1}{4} = 0$$

$$\frac{1}{4}x + y - \frac{9}{4} = 0$$

Multiply through by 4

$$x + 4y - 9 = 0$$

$\therefore 4y + x - 9 = 0$  (eqn of the normal)

$y = 3x^2 - 2x$  at the point  $(2, 8)$ :

$$y = 3x^2 - 2x$$

$$y_1 = 3x^2 - 2x$$

$$\frac{dy}{dx} = 6x - 2$$

$$\text{Gradient } m = 6x - 2$$

when  $x = 2$

$$m = 6(2) - 2$$

$$m = 12 - 2$$

$$m = 10$$



NKHEESI  
CHIZAM



a) For the equation of the tangents

$$(y - y_1) = m(x - x_1)$$

$$(y - 8) = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$10x - y + 8 - 20 = 0$$

$$10x - y - 12 = 0$$

$\therefore -y + 10x - 12 = 0$  (eqn of tangents)

b) For the additional of normal

$$(y - y_1) = -\frac{1}{m}(x - x_1)$$

$$(y - 8) = -\frac{1}{10}(x - 2)$$

$$y - 8 = -\frac{1}{10}x + \frac{1}{5}$$

$$\frac{1}{10}x + y - 8 - \frac{1}{5} = 0$$

$$x + 10y - 82 = 0$$

Multiply through by 10

$$x + 10y - 82 = 0$$

$$x + 10y - 82 = 0$$

$\therefore 10y + x - 82 = 0$  (eqn of

the normal)

3)  $y = \frac{x^3}{2}$  at point  $(-1, -\frac{1}{2})$ :

$$y = \frac{x^3}{2}, \quad x = -1, \quad y = -\frac{1}{2}$$

$$y = \frac{1}{2}x^3, \quad x = -1, \quad y = -\frac{1}{2}$$

Gradient  $m = \frac{dy}{dx} = \frac{3}{2}x^2$

when  $x = -1$   
 $m = \frac{3}{2}(-1)^2$

$m = \frac{3}{2}$

q) For the equation of the tangent

$(y - y_1) = m(x - x_1)$

$(y - (-1/2)) = \frac{3}{2}(x - (-1))$

$y + 1/2 = \frac{3}{2}x + 3/2$

$\frac{3}{2}x - y + 3/2 - 1/2 = 0$

$\frac{3}{2}x - y + 1 = 0$

Multiply through by 2

$3x - 2y + 2 = 0$

Coefm of tangent

The equation of the normal

$y - y_1 = \frac{-1}{m}(x - x_1)$

$(y - (-1/2)) = -1/m(x - (-1))$

$(y + 1/2) = -2/3(x + 1)$

$y + 1/2 = -2/3x - 2/3$

$2/3x + y + 1/2 + 2/3 = 0$



NKHEESI  
CHIZAM



$2/3x + y + 7/6 = 0$

$4x + 6y + 7 = 0$

Coefm of the

normal

∴  $bx + ay + 7 = 0$  at the point

$(-2, -5) ∴ x = -2, y = -5$

$y = 1 + x - x^2$

Gradient,  $m = \frac{dy}{dx} = 1 - 2x$

when  $x = -2$

$m = 1 - 2(-2)$

$m = 1 + 4$

$m = 5$

q) For the eqn of the tangent

$(y - y_1) = m(x - x_1)$

$(y - (-5)) = 5(x - (-2))$

$y + 5 = 5x + 10$

$5x - y + 10 - 5 = 0$

$$\therefore -y + 5x + 5 = 0 \text{ (eqn of tangent)}$$

b) for the eqn of the normal

$$(y - y_1) = \frac{1}{m}(x - x_1)$$

$$(y - (-5)) = -\frac{1}{5}(x - (-2))$$

$$(y + 5) = -\frac{1}{5}(x + 2)$$

$$y + 5 = \frac{1}{5}x - \frac{2}{5}$$

$$\frac{1}{5}x + y + \frac{27}{5} = 0$$

multiply through by 5

$$x + 5y + 27 = 0$$

$$5y + x + 27 = 0 \text{ (eqn of normal)}$$

5)  $y = \frac{1}{x}$  at the point  $(3, \frac{1}{3})$ :

$$x_1 = 3, y_1 = \frac{1}{3}$$

$$y = \frac{1}{x} = x^{-1}$$

$$\text{Gradient, } m = \frac{dy}{dx} = x^{-2}$$

$$\text{when } x = 3$$

$$m = (-3)^{-2}$$

a) For the equation of tangent,

$$(y - y_1) = m(x - x_1)$$

$$(y - \frac{1}{3}) = -\frac{1}{9}(x - 3)$$

$$y - \frac{1}{3} = -\frac{1}{9}x + \frac{1}{3}$$



NKESI  
CHIZAM



$$\frac{1}{9}x + y - \frac{2}{3} = 0$$

Multiply through by 3

$$27x - 3y - 80 = 0$$

$$\therefore -3y + 27x - 80 = 0 \text{ (eqn of normal)}$$